Unit 3 Packet Fractions Name

Layer C - You must do all the assignments marked as required. Then, choose any
additional assignments to earn a maximum of 70 points. You must complete
assignments in Layer C before you can move on to Layer B.

Teacher | Points | Assignment Description **Iudicates the assignment is required.
Initials

5 *ekAdd/subtract fraction notes/HW page 1 & 2

5 **¥Multiply Fraction notes page 3

5 *¥*Model Fraction Multiplication HW page 4

5 xMultiply Mixed Number notes page 5

5 R Modeling Multiplying Fractions with mixed numbers HW p6

5 *e¥Divide with whole number divisor /HW page 7 & 8

5 *:*Divide Fractions notes/HW page 9 & 10

5 ***Dividing Fraction by Fraction notes/HW page 11 & 12

5 #0k Add/Subtract/Multiply Fraction Quiz (not required to be
completed before moving to next layer)

5 *6*Divide Fraction Quiz (not required to be completed before
moving to next layer)

10 *4xUnit test (not required to be completed before moving to
next layer)

5 Paint Problem WS (show your work)

5 Fraction Action 85 & 86

5 Word Problem Practice Multiplying Mixed Number WS (show
vour work)

5 Pizzazz “What is the friendliest kind of airplane?” C-57 (show
yout work)

5 Division of Fractions with Remainders WS

5 Fraction designs WS

5 Study Guide Unit 3




Layer B - 10 Maximum Points - 10 points to move to Layer A.

10

Video yourself teaching an adult to model and divide fractions. Use the

form provided for them to fill out and turn in with your video.

10

Use google slides to teach how to add, subtract, multiply and divide
fractions. Also include 2 real world examples (word problems) of each of

the four operations as a quiz or practice.

10

| frops

Complete the cross cance /S and then create one of your own to
submit. Have 3 people complete the activity and turn their completed
worksheets in.

Layer A - Maximum of 15 points

15

Option 1: Multiplication Magic WS-Complete and then create one of
your own to submit. Have 3 people complete the activity and turn in their
completed work with yours.

Option 2: Cteate a matching game for add/sub/multiply and divide
fractions. See the example. You need at least 16 problems for the game
(32 pieces total)

Layer A+ - Maximum of 5 points

5

WOW me! #salemproud

A=100-90

B=90-80
C=80-70
D=70-60

F= below 60 Total Points Grade
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Adding / Subtracting Mixed Fractions With Unlike Denominators

Steps
L Find the common denominator using LCM
2. Whrite an equivalent fraction
3. Add or subtract the numerators
4. Keep the same denominator
5, Simplify the fraction
6. Add or subtract the whole numbers
1o r Sten 2. = = £
Example —+ —= Stepi: | Pe 3 7 15
3 5 LCm3: 369121518... 1 _ 3
5 5,10,15,20.. .. MR T
LCM =15
L3
15
Practice:
1. i"' "1-'= 2! ._.9_ - .l =
10 2 15 30
3. 24 L= 4, 1224+5 L
21 7 25 50
; 9 2 = Y i - 3_ ==
B. 175-4-7—— 6. 109 818
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Dividing Fractions by Fractions with Models
Independent Practice -l’\'

Choose 5 expressions from the box and complete the following steps.

1. Rename one or both of the fractions so they have common denominators.
2, Draw a rectangular model to represent the dividend.

3. Circle sets in the rectangle that are the size of the divisor.

4. How many sets of the divisor fit in the dividend? This is the quotient.

QSR B ) ) L s
el O e
2o 1 s 8 il
i s s s
N bt
':'i""i' '§3 3 "'6) 3+3

IN YOUR OWN WORDS How do you divide by a fraction? Give an example.
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Dividing Fractions by Fractions with Models
Homework

Find each product. Write your answer in simplest form.

: 1.1 z,4 : Sl
Find the LCM of each set of numbers.
4- 3, 5 51 2,, 3*‘ 5( 6. 3, 4, 6
Find each difference using remaining
- 43 _ 97 el at 3 4it
7. 4; - 2 8. 55_, 33 9. 652
Divide. Use models to find each quotient.

8 . 2 2 43 1.3
10& ;; - g 11- 3 .i!-‘6 12! 2 O 5
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Dividing Fractions HW

Show all your work

) & +%

232 + 2%

3) The stage is 8 %4 feet wide. Each chair is 1 -153 feet wide. How

many chairs will fit across the stage?

4) If three sisters are driving to an amusement park that is102 %4
miles away and each takes turns driving an equal distance,

how far will each sister drive?

5) A juicet holds 43 % pints of juice. How many 2 72 pint
bottles can be filled with that much juice?



